
Errata
On p.36 in Hijacking in Martin's one count #1

Reaction pattern for Ben: pass pass zip pass zip.

Becomes:

Reaction pattern for Ben: pass zip pass zip pass.

The next two entries are not errors, but changes. The original text was not wrong, the new text is 
more concise.

On p.37 in 'Lo-jacking in why not?':

Transition hijack pattern for Anne: pass hold pass pass zip.
Transition reaction pattern for Ben: pass self pass heff pass.

Hijack pattern for Anne: pass zip pass pass zip.
Reaction pattern for Ben: pass self pass heff pass.

Becomes:

Transition throws for Anne: pass hold.
Transition throws for Ben: pass self.
Hijack pattern for Anne: pass pass zip pass zip.
Reaction pattern for Ben: pass heff pass pass self.

Further down:

Transition hijack pattern for Anne: pass zip self pass self.
Transition reaction pattern for Ben: pass self pass heff zip.
Hijack pattern for Anne: pass heff zip pass self.
Reaction pattern for Ben: pass self pass heff zip.

Becomes:

Transition throw for Anne: self.
Transition throw for Ben: pass.
Hijack pattern for Anne: pass self pass heff zip.
Reaction pattern for Ben: heff zip pass self pass.

On p.45 in the pattern 74685:

Start for Anne: two clubs in her right hand and one club in her left hand half a beat after Ben.

Should be:

Start for Anne: two clubs in her right hand and one club in her left hand, one and a half beats after 
Ben.

On p.84 in the pattern Martin's one count feeding maybe:

Note: another way of thinking about Ben's pattern is: inside inside outside zip outside inside inside 
outside zip outside.

Should be :
Note:  another  way of  thinking about  Ben's  pattern  is:  inside  inside  outside  zip  inside  outside 
outside inside zip outside.



On p.107 in the pattern Martin's style one count triangle:

Start for Anne and Ben: two clubs in the left hand and one club in the right hand.

Should be:

Start for Anne and Ben: two clubs in the right hand and one club in the left hand.

On p.120 in the pattern ambidextrous pulsar, near the bottom:

After Clare walks:
Pattern for Anne: self Ben self.
Pattern for Ben: Clare Anne self.
Pattern for Clare: Ben self self.

After Anne walks the pattern repeats from the start.

Should be:

After Clare walks the pattern repeats from the start.

On p.141 in the pattern 972 feeding three count:

Start for Ben: two clubs in each hand.

Should be:

Start for Ben: three clubs in his right hand and one club in his left hand.

On p. 156 in the pattern ten club one count, one count, countdown triangle Ben's start is missing:

Start for Ben: two clubs in each hand.

On p.156 in the pattern ten club clockwise one count runaround:

After Clare walks:
Pattern for Anne: Ben Clare Clare, with crossing single passes.
Pattern for Ben: Anne self self, with straight single passes.

should be:

After Clare walks:
Pattern for Anne: Clare Clare Ben, with crossing single passes.
Pattern for Ben: Anne self self, with straight single passes.

On p.163 in the pattern four person Martin's one count feeding maybe:

Start for Ben: two clubs in each hand.
Start for Daniel: one club in each hand.
Start for Anne and Clare: two clubs in the right hand and one club in the left hand, half a beat later.

Should be:

Start for Ben: two clubs in his right hand and one club in his left hand.
Start for Daniel: one club in each hand.
Start for Anne: two clubs in each hand, half a beat later.



Start for Clare: two clubs in her right hand and one club in her left hand, half a beat after Ben and
Daniel.



On p.166 in the pattern why not? box:

Start for Ben: two clubs in each hand.
Start for Daniel: two clubs in his right hand and one club in his left hand.

Should be:

Start for Ben: two clubs in his right hand and one club in his left hand.
Start for Daniel: two clubs in each hand.

On p.170 in the pattern parsnip line feed:

Start for Ben: two clubs in his right hand and one club in his left hand.
Start for Anne and Daniel: two clubs in the right hand and one club in the left hand, half a beat
later.
Start for Clare: one club in each hand, one beat after Ben. Clare's first throw is left handed.

Should be:

Start for Ben: two clubs in his right hand and one club in his left hand.
Start for Anne: two clubs in her right hand and one club in her left hand, half a beat later.
Start for Daniel: two clubs in each hand, half a beat after Ben.
Start for Clare: one club in each hand, one and a half beats after Ben. Clare's first throw is left
handed.

On p.172 in the pattern One count feeding why not? and five club why not?

Start for Clare: one club in each hand, one beat after Ben. Clare's first throw is left handed.

Should be

Start for Clare: one club in each hand, one and a half beats after Ben. Clare's first throw is left 
handed.

On p.172 in the pattern One count feeding maybe and five club why not?

Start for Clare: one club in each hand, one beat after Ben. Clare's first throw is left handed.

Should be

Start for Clare: one club in each hand, one and a half beats after Ben. Clare's first throw is left 
handed.

On p.195 in the pattern Tarim's runaway (line 5):

Starting pattern for Ben: Clare Daniel Anne.

Should be:

Starting pattern for Ben: Daniel Clare Anne.



On p.196 in the pattern shooting star:

The last diagram is just like the first, except Anne and Daniel have swapped roles, and Ben and 
Clare's have swapped roles.

Should be:

The last diagram is just like the first, except Anne has taken on Daniel's role, Ben has taken on 
Anne's role, Clare has taken on Ben's role and Daniel has taken on Clare's role.

On p.205 in the pattern Havana feed and also p.206 in the pattern interlocking weaves:

In this pattern, when you are feeding you pass on two count, otherwise you pass on four count.

Should be:

In this pattern, when you are feeding you pass on two count, otherwise you pass on six count.

On p.217 in the pattern thirteen club maybe feeding five count popcorn:

Start for Ben: two clubs in each hand.
Start for Daniel: two clubs in his right hand and one club in his left hand.
Start for Anne and Clare: two clubs in the right hand and one club in the left hand, half a beat later.

Should be:

Start for Ben and Daniel: two clubs in the right hand and one club in the left hand.
Start for Anne: two clubs in each hand, half a beat later.
Start for Clare: two clubs in the right hand and one club in the left hand, half a beat after Ben and
Daniel.

On p.219 in the pattern thirteen club one count feeding why not?

Start for Anne: two clubs in each hand, half a beat later.
Start for Clare: one club in each hand, half a beat after Ben and Daniel.

Should be:

Start for Anne and Clare: two clubs in the right hand and one club in the left hand, half a beat later.

On p.222 in the pattern thirteen club two count box, the picture is missing on one edition:

On p.231 in the pattern thirteen club runaway (3rd line from bottom):

Pattern for Clare: Ben Daniel self, with crossing single passes.

Should be:

Pattern for Clare: Daniel self Ben, with crossing single passes.



On p.232 in the pattern thirteen club runaway:

Starting pattern for Clare: self Clare Daniel, with crossing single passes.

Should be:

Starting pattern for Clare: self Ben Daniel, with crossing single passes

Also:

After Clare walks across the pattern:

Should be:

After Anne walks across the pattern:
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